Chapter 25 

1. Given the information in Table 1, (a) calculate the concentration ratio, and (b) calculate the Herfindahl-Hirschman index.

Table 1

Firm
Market Share
A
  20%

B
  20

C
  15

D
  10

E
  10

F
    5

G
    5

H
    5

I
    5

J
   5


100%

2. Given the information in Table 2, (a) calculate the concentration ratio, and (b) calculate the Herfindahl-Hirschman index.

Table 2

Firm
Market Share
A
  40%

B
  20

C
    5

D
    5

E
    5

F
    5

G
    5

H
    5

I
    5

J
    5

100%

3.
(a)
Fill in Table 3.


(b)
Draw a graph of the firm's demand, marginal revenue, marginal cost, and average total cost curves.


(c)
Calculate the firm's total profit.


(d)
If the firm were a perfect competitor, what is the lowest price it would charge in the long run?

Table 3



Total
Marginal
Total

Marginal

Output
Price
Revenue
Revenue
Cost
ATC
   Cost
1
$30


$30



2
  29


  54



3
  28


  79



4
  26


107



5
  24


140



6
  22


180



7
  20


232



8
  18


304



4.
(a)
Fill in Table 4.


(b)
Draw a graph of the firm's demand, marginal revenue, marginal cost, and average total cost curves.


(c)
Calculate the firm's total profit.


(d)
If the firm were a perfect competitor, what is the lowest price it would charge in the long run?

Table 4



Total
Marginal
Total

Marginal

Output
Price
Revenue
Revenue
Cost
ATC
   Cost
1
$100


$100



2
    98


  178



3
    96


  249



4
    94


  335



5
    90


  430



6
    86


  540



7
    82


  670



8
    78


  840



Chapter 25 Appendix 
1.
(a)
Fill in Table 1.


(b)
Draw a graph of the firm's demand, marginal revenue, marginal cost, and average total cost curves.


(c)
Calculate the firm's total profit.

      (d)  If the firm were a perfect competitor, what is the lowest price it would charge in the long run?

Table 1



Total
Marginal
Total

Marginal

Output
Price
Revenue
Revenue
Cost
ATC
   Cost
1
$30


$30



2
  29


  54



3
  28


  79



4
  26


107



5
  24


140



6
  22


180



7
  20


232



8
  18


304



2.
(a)
Fill in Table 2.


(b)
Draw a graph of the firm's demand, marginal revenue, marginal cost, and average total cost curves.


(c)
Calculate the firm's total profit.

(d) If the firm were a perfect competitor, what is the lowest price it would charge in the long run?

Table 2



Total
Marginal
Total

Marginal

Output
Price
Revenue
Revenue
Cost
ATC
    Cost
1
$100


$100



2
    98


  178



3
    96


  249



4
    94


  335



5
    90


  430



6
    86


  540



7
    82


  670



8
    78


  840



